a9 sErRA 135Ny couml U 2013
Yue g

2013 ~cope: 002
UeTqfkieh! HEE
BOOKLET NO.
UgT : 200
BT, FUSH o W NeAqAT -
@ : 2 () A9 ’ TEHIT 0T : 200

@

&)

)
(4)

©)

©)
)

TS TR 200 Afar g9 ofed.  SHQA geAiEt W fefvar Yea wwargEl 91 yegiasa 99

T dger =A@, P—
ST TeT- S g SR ™
1 P R fer, Y NN e 51

T BIUSH FETYIRTRT HHih AT STAfAha fafere S SaafAha{e LaE-yam! 7 fawwmr 9g Far.

(&) T T Y& Tvel 4 Tarh I gafaed s @i 1, 2, 3 aftr 4 318 i Koo sea. =
IR Fide! Fald d7g IO HE ST ARG TIITH0 GHEA1 STAAhaR TS FTa1, 3T THR
ITTFR IAERHIE TE HHT § Geifia TTTeaIIEAR SHifhd He Siae S ard] e s,
TR T il YTEY Aieu aradd, fae ar wide o 9ae 74,

(9) JFET o famaraet wdt siieT s areawy fafya o k.« fararen wele wee uiet /s
TUSIT TN QT BTIUETT TN Y. RS FUSATe [l RS UgTHE JEuigeies Jgar
3w et frmtor grearst vier sreamw, SgaR™ wWafta gy waiEt |rieie gy
AT UETa.

e JeHIAT GHE T 14, ARGd U9 JeE ST . METe T SR AR A Sai e e foden

A YT WEAEA. HHH T Srefant SR IR T TETET WY ol aIeedrd /el A T aIaad qge

AV HEEH 3. '

IHAMAHT THa TG FOD IR TS JUR TR TG FIS I Trgd T3 I [0 QA YRS SR AR

T FHEa aRRTeS S Tt Yyt fRerar u S daid g sove Stataa

THE HAEA. FYT AT STUCh T WISiacedr T A g el STaie! Ut Ugrd 107 a9

A At

arR g

THATHATT IS THHHATS A0 AT A 99 3. | d@ auda uX yyagferaret
va/9dt, féar 3T yeqfaa e ®TE A9 HIUTEE R TEsl ar Fue eyl
HIVTATE AR Geul, T8 Ui w0 o T g A ol HUan seRitat I
AR oo udiained gomr Ry yfaes smivaraaaar sifuian-82 " e
TIEHR a0 Wafoq HIGErs WaaR SRaE S 330 9 Sl et ®ue U@
aafear wrETaT=an anfur/féar Ul e s tEEer gersan e are wige.

TEA & UyTuiahae! fafgd Foek A wuvaremsdt # TTgReaedT SMiURauul STl & WaT

geHfaar § @i suag 19

oS

E

TG SO SR aeg 39 ATUFEMITAR SaT FH0Ar 450 9 Srot saad! RTEd o 2ge. I




002 2 A

ol HIHTETE! A /SPACE FOR ROUGH WORK

T T SE i R T T T T e



3 002

‘qerl’ a1 I favg teff wisg wim ?
(1) TR (2) wiemH (3) FTEE (4) 3T

‘Fier Seadr faas! Feora’ a1 wuis gva Jd wim ?
(1) S HTel STl (2) WIS W HIETTHRE HD ST
(3) e M @ YEewdd e oWR.  (4) Wil IMecIINEg | Heuv fega .

HEd AYA TUSId U= T8 300 15 Frord 2
(1) &, e, 9ig (2) 9M™, TE, FiE
(3) s, TME, B (4) W, 9IS, TR

‘I R A T AIOL’ g A RV TR ST,
(1) et (2) <gmueh (3) e (4) Fourmed

‘SR, ai ® e iVl YT AUETd IS STRa 2
(1) &1 (2) wHS (3) =fas (4) I

' ST EAd: HEITSAT HErA™ SERS! Sl ?
(1) ity (2) i (3) e @) =

IS AT STEY A g Weg HIvw! FE Hea ?

T T A

"o EreE A

‘gaft TSR S

(1)  frag, wsgErt, rarfasmo (2) Twrmfasmw, fFame, swegam
(3) Tramg, frafavm, e (4) e, foramag, frarfadmn

TET I ST T AHGRA TYaR 3R 7
(1)  wfcre (2) &R 3) wifaw (4) wEEF

‘T @ FE It 3 Tevilg Fvie MR AEd wifae IR ?
(1) wmeA (2) V@I (3) d=WE (4) v

HeAl HIWHG IR /SPACE FOR ROUGH WORK

P.T.O.




002

10.

11.

4 A
BTl o el i Fiod 9T EeE ?
(1) el § et (2) HTEH F FeRTORE]
(3) fomel 9 et (4) EE g 0

wrSiGtes! FIET SFAR g’ 97 T Higa) ?
1) %4979 2 %399 B) T3] 4 9,434

12.

13.

14.

15.

16.

RIS dIhHer Faears v o e,

‘T AR AIST . T U el Sl @ Igat .
(1) T EHTeM edHl YTd VTl HHte] o[ df 9l
(2) THFEH AT THAMET T HoEl HHET T ST

(3) TEIHBM AT THA 9 VHSE HERS A0 df g,
(4) TEHEH TS AAEE TEET TH TS

T o 3iEes US! sreesdTd S WRUH carel crEl 318 U HREd, o1 arepaipiie o
I TR 94 el

(1) = e (2) O anfees T e

(3) HERBAE EH @) gyl faum

‘forarer oS, Tyl fafiaent s 9’ ¥ A o ame?

(1) Fas (2)  FeTEH

(3) wg A (4) T Frowe e

UG ST a1V il 3118 ?

‘ gidiher ¥d (e aSihd SR 50 9 [EHER T @ 16 AR F09H
e,

) Ufvadwwm (2) Y= (3) TRATHIS (4) wioss
‘g B FrEd A1 s yErA fawg S1el g TN ApYaR S,

(1) < S, (2) w9 YRIET A,

() d=r fkaw I, (4) ST WY,

HEAT WM SR /SPACE FOR ROUGH WORK




A 5 002
17. fearer= w1 wat g 4 ai=n fenagq geuym S99y Je T .

(1) FF¥H& Fd0 T (2) v el v

(3) FYHEAHHT FAM 4) W& wEm
18. o wHl warRTS faummn SugER st

“HE U ATEA A

(1) o FHR (2) e ol (3) W FHAW  (4) IO HHO
19. YEiois! HIvd YIgEHe 56t TR St 3R ?

1) GG, ueE, feg (2) e, e, wea

(3) wde, wlaas, A (@) sEviE, T, o
20. ‘HOTE ITRNIE SO THOR' TEUR :

(1) Fa& (2) Fad (3) iy (4) FaFd
21. TEiotw! afrafia fraae s ?

(1) T, FHad, T Q) WIES, TEHDY, IS

@) o, nfes, T d) &Fd, aEa, =
22, ‘IEEE TSUN WA A1 VI WHEl 95O U ¥ Tl

(1) w=R (2) @ @) T (4) HEYs
23, TRISt AT TRV fRdl TR AR ?

(1) 48 2 12 (3) 13 (4 18
24, YEIOURT FHIRI M A7Ted] WA YE A 3R

(1) aHfaaHe Q) HCIEATS

(3) eyt 4) seif
25. QR0 aEdie ARG Tl TR e,

" {9 HTgETERS wHY JUR 7’

(1) FrErEs oW (2) WEHYETES e

3) Tedtaqewaras wdm (4) wad g™

HoAT FHIWTEIS W /SPACE FOR ROUGH WORK

P.T.O.



002

26.

6 A

‘T ol A sfeeafa EO W aEERTET ow e HE e ?
(1) [FEE HSos! e U, (2) wiesng TRt e wE,
(3) T woR a R AU e T, (4) Yo 7 SR 7 13 7 Sow i e,

27. SATHAER [Ee gmifas v fon st ?

WTSTYTe, TEUH, HSHTeRd

(1) wifeEm, gfed, Tqamfan (2) Yfeem, wifen, Tqusion

(3) AqwenfeT, wife, gieen (4) qfeen, aqgsion, wfifen
28. U1 WAWIG shal WUHG § & YT e feata s stwn yaee TEUTAR ?

(1) wHdq (2) wHut 3y ¥R (4) Haivf
29, ‘YR’ 7 G FIUCHT AT TS T AR 7

(1) =i (2) HRIM (3) TES (4) e
30. IS YR HIV Viegedl HHte g ?

JHIEHI

(1) wEI™ (2) e STeE

(3) SETaE J=Y (4) Faeydr Ty
31, ‘"o gieoidt o Ter’ § e S TR 3R 7

(1) wmef (2) et (3) Hinaed (4) fomedt
32. ‘Toelt faeneatn fieram . 41 Srerid SIvm@n &6 37T 218 ?

(1) =& (2) wHuf (B) “& (4) ! A
33. YRGSl WiguvaR eHe Higs foddl’ § 9 S0 W 378 7

(1) FHaeaH (2) GgFE

3) fasaw (4) THT HIURE AL
34, TP TS R YRR ST,

ot AT SR Tareel wiee s’

(1) vERfRATTR (2) TEN fEame (3)  oags feame (4)  vmfay feamg

FHoAT HIHTHEES AFT /SPACE FOR ROUGH WORK




A 7 002
35. gfueyie fRamfasiyo o= Fivrdt 9 foer
(1) IR, e, fee (2) W, A, HATHS
(3) HivE, T, e (4) o=, &, T
36. 'FHAAWEHE ' A1 VG AHHT 31 Fivra1 ?
(1) Fdeae gt TRv (2) wdAfTS T
(3) WdAFRS TS fREU (4) Hhd=a 7 foua 9 FO
37. W 9RIE UH A IR 9 U e faud oEd v 99 sieel sty fRAee oA we
TEUIA.
(1) faemef s (2 Tag e (3) o T (4) TioraTE
38. 'gad yfiiferdt teard s’ @1 sl 9w S ?
(1) fesmEm J9x (2) @O R A
(3) SR AR 9@t (4) VO™ Y e femdm.
39. 'HyHYd s¥9 wUHS ¥q W' A TGS HYARYT ' B [N VR Yedied Sl e
e ?
(1) Terafarioo (2) vegEntt (3) fado (4) ™
40. T JUN R 9 Gl A1 GeAH TER G0 e e e fae TR, 1 STUR AWy Sl a7

() M+ A () TigeEm
(9) 3+3% (i) TR
(F) 3m+am (i)  ferenet
(8) A+: (iv) T

() () (F)(3)
Q) G @ v) (i)
(2) @) @ @)
@) @) ) @ @
) @ @) @ )

i)

=

oAl HIUTATS! ST /SPACE FOR ROUGH WORK

P.T.O.



002

8 A

1o SARTETEA @I gyl 3a¥ (og] U8, 41 1 45

e RO SHTYHTY FIGHIER WEY GO TSN HE 3900 3R, dgad SHearsAl
fafire yHdHRd 4 WEy fawa 30 90 9], Tew, FUWied, ofea ey s@R 5=
TEIYHRG HATA o AYd aegfTedl THd.  Io FI ¢ Ak SFoTw, M= T
3. I THIANSH ST T HE&AT 07 707 91 SIet Siewdiia Tieeh o Fierd Afyrew Agwa

AT T TR SR T TR, e S Te-wEm Sy e s
VR, b fed Wieaesne U6 audr Ygdl a1 g A8, e, Fearl, Syndl, Bied ey
1 TerfeTde fhdiadl e B Sreaugdn i 89 U9 390, 91 Sy I wee
wfed T g sTRe Fe YvaTHIS! wIeANHISE! W AI9E] ST, ST T HeAaH ey
A TR0 g, Yemiveren 4w wiwifast A oo TeauHiaSar sraiaTy SRa § Y,
IS WG edl 9 SHYERAl § Yeufueren wfagTidl yEpl e, S esd A9,
Freaygd & Frerfa:a Fri ‘ sriewasRd’ 3 TeT SHd 9 AT HIRVT A1 GiaaTEYs sAfsrenEt
T e STE. 1 FaurEus Sfoaaiinears TS Tl Swedd ST ST oS et |
U el Wegl FAg! € vl TR AFIA, deel deel o HreawHiarean WHr Taee 15
farefed,

FHIAGHEN TGS gaiv ®@ 9 gueTE /@, oTid awglert aitdu e,
FHFA HaR FON] THF TR 8 TIETW foTaR T sqhiaen sifirk e STawda 9.
FATHS f g6 ARATIYAEN UG THA 61, S0 Td Aigcarss of FaTo oy yhd. ' T&FH
e ARER TANE FE 99 I b S fSAfeaRaunl <% k. 90 o8 Fiv S 2’ @
FRTINS HHAINTS TR df TS dig Whd. 1. Fesaieal weaiaydr i 9, 7me
eTte=ar weifam) @t et et 7 . Wieraaer wivy vekd,  gened geiee g e a
sifyrare s fodt &1 wea an fowmel aewer e TR AH ST I, weieT oI 9 et
Rfeardt I SR T WHER Sl TvEd 6. 3o HeATHl YR Tl a9
TRTEATE TR gaa W, fagry arae 9 yiafted JHER IR g1 IR TS aiEat et
MR, 3TV TEUM W41 SARIfawa e HeaaHtael Wad aritEn favg sHfas o,

HET FHIER IR a0 TH AU AARANGE AR, B Gifgcaraady] araera o geret
§ Y5 0 89 gifecaqHiee uw T o W SRWHER wHidet § swefya 39, =t
favrTolt wren 9 Sfed T Al G ST, W wide fHRE 9 FEHiEE IHed WS e
¥, A N FIoETHIS W T TR i s 9 Jfus TARvE TR ¥ e
g

41.

wlemetee Smde TeE= YO B ?
1) e 2) FHURE (3) hreAgsd ¢4) wHtEgEl

THeedT HTAMEE WRT /SPACE FOR ROUGH WORK




42,

43.

9 002

‘Hadur' a1 y=eTE AT 1Y Hivran ?
(1) T<@ . () warer sTdo o,
(3) Har TRl =, (4) @a: AT FHIW,

JEte Al Ara wieE .

(1) FrEAgg e wegwe! (2  hfeedret wept
(3) hroaHlen el @)  wrea widE w

44.

FTAYG & FUTE! TH TG ?

(1) STANF T FHIORE = et
() wiaurEw safFaqomat

(3) FRAIHR=

(4) AEHE

45,

ofod wfeadds arawrEt wor gurd 9 7y F0 § w5 3w o ?
(1) TRHFN (2) FUEfeE™  (3) wRER (4) iR

YEIe SANTEre o yyal Iu¢ fo U, 46 9 50

TSI, e § SIFST TEEM Ihao0, a1 Haael Teoel S = el sr
IRM Hedl, I AT TRV FTe Seool. T G 9T, AgH Ao A T Sed St ! WEiH
IS HIVETST SO0 $eUR - HTRIG 90 THEH . R TaRsTi= Siia 9o Si=mdd
T BV e fud uE Fide. 3Nty gERm TR RN g Ao e e Eieat
‘afd fay Wl @ EE IHeS’ TH! S e, MK S Tew HWRT FIH AR T

Tagad HIgHl Sl dIe[ IIouN <ddl, G Fied T $S 3TF S5 7 s§ Hq fafaw
e, Aerare T T T AT ARG B WIS §IdEd Bl W T € H S
HEE! A1 0.

T A=A Hiadten TS ANl |6 TRl ST s SRS el Ao
STHEN.. A TedIaedl ™ e SHSHIG ST STl A 3R, TH Il Sa@ s
afor wgome, ¢ w78 Sael G HERISS 714 ¥ &7 12 TiehT=0 Bl SN 39 1. FEat g3
AR =E . . . . WHR T TSl 1 TSE WHa! 6 TRUd Tardr ad: Higdt

THoT HIHTETS S /SPACE FOR ROUGH WORK

P.T.O.



002

10 A

Jaee il el Siearge seiten avt 3uft 31e. STl W Wiad! ddiaa aviry iRt o
THET AT TR Her S ew R Wesnren qfasd frara o ufge. e gfaea
'FERE " @ Tl gE et

e SHCT LTH AEH W Al $@ WA 391 TG IHEA Te1 | GRNH ' A1 AR ..., TR
3 TEht vfed WS Ne@ A ... | TEHEHIE] HEH GEAEE § 99 9. S df Haq
P SR g L d fea e fedad s quar adiE st or feee wee
SHES § F HHI TR,

46. T FIUE TALH FHAS Bidl 7
(1) o fad wwt (2) T T AT HIoRd
(3) 1 ATt SE SRt (4) THE SO A FEE W
47. ‘7S |@am’ anfor ' Aew w0 W TN S A T SR A atew ong & ?
(1) @™ (2) &
() alets = (4) TS TEHE TEY.
48. YT FIGTIRIA HIVET TUrE dadt TE I ?
(1) wEE (2) SifEIuTE!
(3) eH sEfquat (4)  RRH HETSTAT ToRTH!
49. FU AYqow Tt ST ST @RIE TEd ?
(1) - TRHHET HeeH (2) VEHM
(3) TEFH (4) U FIViE AR
50. IR IO 8K F HE IR TRTERE HRO FE Y IHG ?
(1) T I 9 (2) Z9EH qreHen T A
(3) < dTet e (4) aEH g SNE e
51. I went to his house this afternoon (so as to help him)

Which ‘wh’ word should the question begin with to get the underlined word as answer ?
(1} Who {2) Whom (3) Where (4) Why
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52, Pick out the odd pair from the following :
(a) permit - permission (b) bless - blessing
(c) provide - providation (d) bold - boldness
Answer options :
(1} (a)only (2) (a) and (b) only
(3) (c) only (4) (b) and (d) only

53. Identify the misspelt word from the following :

(a) Dbarister (b) bachelor (c) calender (d} Dbegar
Answer options :
(1) (a) only (2) (b)only (3) (a)and (d) only (4} (d) only

002

54, Complete the following sentence by putting the verb in brackets in correct form, positive

or negative .
“I knew she was very busy, so I (disturb) her.
(1) will not (2} donot (3) did not (4) cannot

55. Which of the alternatives correctly represents the underlined part in the sentence ?
(1) His modular operandi is well-known to the police.

(2) His modest operandi is well-known to the police.

(3) His modus opera is well-known to the police.
(4) His modus operandi is well-known to the police.

56. (I) 1have never seen such a beautiful sight.
(I} Itis a good site for a factory.
(1) (1) is correct only (2) (1) is correct only
(3} Both {I) and (1I) are correct (4) Both (I) and (II) are incorrect

57. Which of the following words is a preposition ?
(1) accept (2) except (3) award (4) reward

58. Identify the incorrect pair from the following :

(a) duty - dutiful (b) fame - famous

(¢} know - knowledge {d) religion - religious

Answer options :

(I} (a) only (2) (ayand (b)only (3) (c)only (4) (d) only
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59. Pick out the correct sentence from the given alternatives :
(1) How did dare you contradict me ?
(2) How dares you contradict me ?
(3) How dared you to contradict me ?
(4) How dare you contradict me ?
60. Pick out the correct antonym of the word :
random
(1) clear (2) casual (3) specific (4} normal
61. Which of the following words is an adverb ?
(1) act (2) action (3) active (4) actively
62. Choose the best alternative to fill in the blank in the following sentence.
I'm not accustomed getting up so early.
(1) with (2) to (3) about (4) in
63. Choose the correct alternative that describes the underlined word in the following sentence.
Frog is an example of an amphibian.
(1) An animal living on land.
{2) An animal living in water.
(3) An animal living both on land and in water.
{4) An animal used in laboratories.
64. Which of the alternatives can be used for describing a person who has a good knowledge
and understanding of subjects such as art and music ?
(1} Cannibal (2) Compassionate (3) Cunning (4) Connoisseur
65. The doctor gave him medicine.

In the passive form, the sentence will be :

{a} He has been given medicine by the doctor.

(b) Medicine was given to him.

{c) He was given medicine.

(d) Medicine has been given to him by the doctor.

Answer options :

(1) Only (a) and (d) are right. (2) Only (c} and (d) are right.
(3) Only (b) and (c) are right. {4) All four are right.
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66. Pick out the correct sentence from the alternatives :
(1}  You ought have helped him.
(2) You have ought to helped him.
(3) You ought have to helped him.
(4) You ought to have helped him.
67. Choose the correct form of verb to fill in the blank in the following sentence.
Beware lest something worse to you.
(1) Will happen (2) Should happen
(3) Can happen (4) Would happen
68. Which of the following are/is opposite in meaning to REPREHENSIBLE ?
(a2} Laudable (b) Separable (c) Manageable (d) Favourable
Answer options :
(1)  (a) only (2)  (b) and (c) (3) () only (4) (d) only
69. Which of the following verbs are in the correct tense forms of the verbs given in the
brackets ?
We .(get up) at 4 and __ (leave) for the air port.
(1) will get up and left (2) gotup and left
(3) gotup and leave (4) got up and will leave
70. Select the closest antonym of the word - “extempore”.
(1) careful (2) extraordinary
(3) well-prepared (4) none of the above
71. They sold their old house because it was a real white elephant.
The underlined phrase means :
(1) abigone (2) auseless one
(3) a rare find (4) unprofitable possession
72. Choose the sentence where the underlined word is correctly spelt :

(1) She was embbarassed to hear her praise.
(2) She was embarrased to hear her praise.
{3) She was embarassed to hear her praise.
(4) She was embarrassed to hear her praise.

THeEAT HIWMEEE S /SPACE FOR ROUGH WORK
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73. A speech made without any previous preparation is called
Complete the sentence choosing correct alternative.
(1) address (2) extempore (3) elocution (4) lecture
74. Select the most appropriate synonym for the word “elementary”.
(1) wide (2} clear (3) careful (4) Dbasic
75. Choose the alternative that explains the correct meaning of the underlined part in the

76.

following sentence.

The decision of Govt. to waive farmers’ loans while increasing income tax is like robbing
Peter to pay Paul.

(1) Taking advice from one person to give it to another.

{2) Taking something from one person to pay another.

(3) Taking something from one person and not paying another.

(4) Not paying anything to anybody.

He ran against a difficulty he had not anticipated.

Substitute the underlined phrase with one of the following terms closest in meaning :
(1) suddenly faced (2) defeated

(3} solved {4) escaped

77. The current of the river is very strong,

The underlined word means :

(1) present time (2) general tendency

(3} a flow of water (4) a flow of electricity
78. The thieves jumped the window.

Pick out the correct alternative to complete the sentence.

(1) by (2) into (3) through (4) across
79. Maich the synonyms in the following two columns :

A B

(a) yearly (i) useless

(b) futile (if) careful

(c) meticulous (iii) compulsory

{d) mandatory (iv) annual

Answer options :

@ (b)) (g (d)
M v O G 6@
@ G @) @) @
@3 O @) @) G
@ (v 6 G ()
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80. Which of the following words is a verb ?

(1) peace (2), pacify (3) peaceful (4) peacefully
81. Pick out the odd pair from the following :

(a) ideal - ideally (b) literal - literacy

(c) reasonable - reasonably (d) usual - usually

Answer options :

(1) (a) only (2) (a) and (b) only

(3) (b)only 4) (c) and (d) only
82. Select the closest antonym for the word - “diffident”.

(1) confident (2) difficult (3) tolerant (4) none of the above
83. The word diary means :

(1) A book for making daily records

(2) A place where milk is kept and butter and cheese are made

(3) A note book

(4) A long book
84, Match the following correctly :

(a) Gullible (i)  An animal eating everything

(b) Omnivorous (ii) Repeating the actual words exactly

(¢} Verbatim (i) Using too many words

(d) Verbose (iv) Easily tricked to believe something

@ (b) (o) (d)

M (v @ 6 @

@ ) 6 @ i)

@) v © G G

@ O G @) )
85. Choose the word that is closest in meaning to the word :

Ballad

{1} a kind of dance (2) alovesong

(3} an English game (4) a simple narrative poem containing a story
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86. Which of the alternatives would be the best replacement for the underlined word in the
following sentence ?

The proposal was approved with little dissent.
(a) Great enthusiasm (b) Discussion
(c} Disapproval (d) Difference of opinion

Answer options :

(1) (a) only (2) (b) only () ©@and@  (4) (d)only

87. () Tuntun is fat so that she cannot dance properly.
() Tuntun is so fat that she cannot dance properly.
Select the correct sentence :
(1) () is correct (2) (1) is correct
(3) Both (I) and (Il) are correct (4) Both (I) and (1I) are incorrect

88. You have to keep a sharp eye. He should not cheat you. You have to ensure this.
Combine the three sentences to make a Complex-Compound sentence :
(1) You have to keep a sharp eye, and ensure that he doesn’t cheat you.
(2) Keeping a sharp eye will ensure that he does not cheat you.
(3) If you keep a sharp eye, you can ensure that he doesn’t cheat you.

(4) A sharp eye from you will prevent his cheating you.

89. Use the correct form of the verb given in the bracket :
Do you mind his (come) to your house ?

(1) come (2) comes (3} coming {4) to come

90. Sunil will come back soon.

Identify the type of adverb underlined :
(1) Adverb of time (2)  Adverb of manner
(3) Adverb of frequency (4) Adverb of reason

HoAT HIMTATE WRT /SPACE FOR ROUGH WORK
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Question numbers 91 to 95 : Read the following passage and answer the questions given
below it.

A small crowd had gathered round the entrance to the park. His curiosity aroused, Robert
crossed the road to see what was happening. He found that the centre of attraction was an old
man with a performing monkey. The monkey’s tricks, he soon discovered, were in no way
remarkable, so after throwing a few pennies in the dirty hat which the man had placed on the
pavement, Robert began to move off, along with other members of the crowd.

At this point the man suddenly let out a loud cry. Everyone turned to see what had happened.
The man was bending over his monkey, which now lay quite still on the pavement. He picked
up the apparently lifeless body and, holding it close to him, began to weep. A young man
stepped forward from the crowd and taking some money from his pocket, dropped it into the
hat. Robert and several other people did likewise, until the pennies in the hat were covered
with silver coins. Meanwhile, the man continued to hold the dead monkey in his arms and
seemed to take no notice of what was going on about him.

A few months later, Robert came across the old man again, in another part of the city. The man
had a monkey, bought, no doubt, with the money which the crowd had given him. Once again
the old man let out a loud cry. Once again the monkey lay still on the pavement. The man
picked up the “dead” monkey and clutching it in his arms began to weep. The same young
man stepped forward and threw some money into the hat. Again the crowd followed suit -
except for Robert. Smiling to himself, he went on his way, amazed at the man’s audacity.

91. The centre of attraction was __ .
(1) an old man '
(2) a monkey
(3) an old man with a performing monkey

(4) silver coins

92. Pick out the noun form of.
amaze .
(1) amazing (2) amazement (3) amazed (4) amusement

93. The passage is about
(1) the monkey show (2) the crowd
(3) the silver coins (4) the oldman’s money-making strategy

94, Robert came across the old man again.
The meaning of the underlined phrase is .
(1) met by chance (2) responded (3) punished (4) attacked
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95. The old man began to cry aloud because
(1)  his monkey was dead
(2) he got less coins
(3) his coins were stolen
(4) he wanted to get sympathy and more money from the crowd

Question numbers 96 to 100 : Read the passage given below and answer the questions based
on it,

In so far as it places all phenomena on the same emotional level, the scientific point of
view may be called the God’s-eye-view. But it differs profoundly from that which religions
have attributed to the Almighty in being ethically neutral. Science cannot determine what is
right and wrong, and should not try to. It can work out the consequences of various actions,
but it cannot pass judgement on them. The bacteriologist can merely point out that pollution of
the public water supply is likely to cause as many deaths as letting off a bomb in the public
street. But he is no better equipped than anyone else in possession of the knowledge he has
gained for determining whether these two acts are equally wrong. The enemies of science
alternately abuse its exponents for being deaf to moral considerations and for interfering in
ethical problems which do not concern them. Both of these criticisms cannot be right.

Now the tendency of the average man has always been to dwell on the emotional and
ethical side of a case rather than on facts of the somewhat dull kind which interest the scientist.
Let me take two examples, the problem of the American negro and the problem of disease. A
large number of Americans hold that the negro is definitely inferior to the white man, and
should, as far as possible, be segregated from him. Others believe that he should enjoy the same
rights. The biologist cannot decide between them. He can point out that the negro’s skull is
more ape-like than the white’s, but his hairless skin less so, and so forth.

96. What should science not try to do ?
(1) Determining cause of diseases
(2) Determining right and wrong
(3) Determining the cause of social problems
(4) Determining the biological structure of negroes

97. Which two examples does the author refer to in support of his views ?
{1} Religion and ethics
(2)  Science and religion
(3) American negro and the white man
(4) American negro and disease

98. What is the tendency of the average man according to the author ?
{1) To believe in religion (2) Tolook at emotional side
(3) To look at ethical side (4) To look at emotional and ethical side

HoeAl HIWMEIS AT /SPACE FOR ROUGH WORK
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99. Which of the given alternatives cannot be linked to the passage ?
(1} Bacteriologist (2) Biologist
(3}  Ethics (4) Architecture
100. What has been called ethically neutral in the passage ?
(1) Religion (2}  Almighty
(3) Scientific point of view (4) God’s-eye-view
101. . TETERS FASH A HIVH THF & o3 ?
(1) afespa WG (2) feaey
(3) weA (4) 9 sfem
Which fortnightly was started by Dr. Babasaheb Ambedkar ?
(1) Bhieskrut Bharat ‘ (2) Deenbandhu
(3) Harijan (4) Young India
102. HeE fierTsa deear T w14 2
1) WEHE fHw (2) TR
(3) @R 4) W
Write the names of member of Cabinet Mission.
(1) Straford Cripps (2) Dalhousie
(3) Warren Hastings (4) Curzon
103. 1857 =01 IBETS SH W@ cHidl A& Wi

(1) wi Tl /T S

(2) | M/ fa. S EEE

(3) Ay feos/qrn 2N

(4) HRR TRES/ U SE

Name two main leaders of the Revolt 1857.

(1) Queen of Jhansi/Nanashab Peshva

(2) M.Gandhi/V.D Swarkar

(3) Lokmanya Tilak/Tatya tope

(4) Namadar Gokhale/Subhash Chandra Bose

oAl HWHE! ST /SPACE FOR ROUGH WORK

P.T.O.

B Ut SV P O S P ee—mm e e s 6L L



002 20 A

104. faven faamere srom fHeEt ammEt vl faven faae faarrivs dea’ o1 dei= T &2

1y =4 (2) TTER (3) g HEW 4 T
Who established Vidhva Vivahottejak Mandal so as to promote widow remarriage ?
(1) Karve (2) Agarkar (3) Shahu Maharaj (4) Phule

105. Ha3 faemdien TR.T. qoew Jfewen Afgat i 2

(1) wRiEE 98 (2) @R A

(3) FOMER I (4) fem e

Name the first lady to do M.A from Mumbai University.

(1) Kashibai Devdhar (2) Venubai Namjoshi
(3) Krushnabai Thakur (4) Pt. Ramabai

106. YR STHAYE e A H0 @@ S ?

(1) = e (2) - FrETHTE A

(3) T TG (4) O fees
Who is known as the Father of Indian Unrest ?

(1) M.Gandhi (2) Dadabhai Naoroji
(3) Lala Lajpat Ray (4) Lokmanya Tilak

107. WEwT FO il Ha5d BT g AHFHI 99 HSgT A0 7
(1) R =T ¥R0a] SR B,
(2)  F9 IR 9IS I FrE WL
(3) YR AN AEE.
(4) 9@ TREE]
What was Mahatma Phule’s intention of organising a strike of Nabhik at Mumbai ?
(1) They had to pay extra tax
(2) To stop the unjust practice of tonsuring (Shaving of head) of widows

(3) To give proper respect to Nabhik

(4) For increasing wages

HEAT HMTEES! 9T /SPACE FOR ROUGH WORK
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108. Sireur ool

(a) U weeg @ PR

(b) @I (i) 7w

(c) a2y (i) WY

(d) = fae (iv) FER

i ST

(@) (b} () (d)

1) Gv) G @ G

(2) (@) @) @) @

Gy () Gv) @) (i)

(4 @@ (@ (@) @

Match the following :

(a) Rani Laxmibai (i) Jagdishpur

(b) Kharjasingh (i) Jhansi

{c) Tatya Tope (i) Khandesh

(d) Kunwar Singh (iv) Kanpur

Answey Options :

(@ () (g (d)

(1) Gv) @) @ @)

(2) () @ @) @

@) @ (v @) @)

(4} G (@) @v) (@)
109. 1927 9! 4. Feaid WSHe ufee fomga afa st fefed ?

(1) HERQrE Sea (2) WU AT

(3) "By e (4) TIREUTE STHAET

Who wrote the first Marathi Biography of Mahatma Phule in the year 1927 ?

(1) Bhaskar rao Jadhav {2) Khanderao Bagal

(3) Pandharinath Patil (4) Narayanrao Amrutkar
110. Hazd ‘' safuivay qur’ 318 oend o FH FIoE TS R ?

(1) SEnY THES (2) TerRsteret Agar

(3) TRETR At (4) 9% TN O

To whom did Acharya Atre address as an uncrowned emperor of Mumbai ?
(1) Jagannath Shankar Seth (2) Firozshah Mehta

(3) Dadabhai Naoroji (4) Bhau Daji Lad

Heedl FHIMEE T /SPACE FOR ROUGH WORK
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28 fedat 1885 TS el FHH=T1 Ufged JfUITAT" STL8y F1o7 8 ?

(1) e g (2) osEH

(3) ATER S (4) o TEE

Who was the President of the first conference at congress held on 28% December 1885 ?
(1) Allen Hume (2) Wedderburn

(3) Vyomesh Chandra Banarjee (4) Lord Dufrin

112,

HIE I GURHM 26 F& 1902 O MIMHINATETESt 50% SO TEH 904 SRR 6 ?
(1) g HeR (2) H T 3) faw R (4) g %4

Who was the social reformer who declared 50% reservation for backward classes on
26th July 1902 ?
(1) Shahu Maharaj (2) M. Phule (3) V.R. Shinde (4} M. Karve

113.

ST AN RS SR ETeeyST HI0 B ?

(1) ZRE HeRH (2) R wight e

(3) =i e (4) B SHH

Who was the First Marathi Grammarian from amongst the following :

(1) Durgadas Mancharam (2) Dadoba Pandurang Tarkadkar
(3) Justice Ranade (4) Balshastri Jambhekar

114.

115.

GIATYHT BVl HAST ARG QTEETE [Fam SR A ?

1) WA A (2) @

(3) SN EE (4) HEUEH TS

Which organisation believed in the preachings of Varkari Sampradaya ?
(1) Prathana Samaj (2} Arya Samaj

(3) Brahmo Samaj (4) Satyashodhak Samaj

1958 Wret * aRat’ g e fresfaom HeRredie SRS w2
(1) fage st i (2) Sl AR S
(3) dfer Fwa (4) TIdTES STET BT

Who was the social reformer from Maharashtra to whom ‘Bharat Ratna” was awarded in
1958 ?

(1) Vitthal Ramji Shinde (2) Dr. Babasaheb Ambedkar
(3) Dhondo Keshav Karve (4) Gopal Baba Valangkar

HoAT WHTEE W /SPACE FOR ROUGH WORK
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116. TR GG TGS S& 0l ?

(1) @Lfees (2) TEfEdE  (3) W med (4) Hrdor TEE
Who was the Founder Member of Swaraja Party ?
(1) L. Tilak (2) Rasbihari Bose (3) M. Gandhi (4) Motital Nehru

117, Orehfedams = JEd Gesis! 4 97ig et
(a) U AY I
(b) WU A T oG
() wwimm, wiHva wer 5. U= o
(d) FETT GERUAD SR Yad®

il S '
1) ()3 (b) ®d (2)  (a), (b), () B
@) (b), (9) (d) FHd @) 0o gd slE

Choose the correct option about Lokhitwadi :

(a) Birth at Pune

(b) Wrote in Prabhakar News Paper

(c) Wrote in ‘Laxmigyan’, War of Panipat

(d) Initiator of Allround Reforms

Answer Options :

(1) (a)and () only (2) (@), (b, (c) only
(3 (b), (c), (d) only (4) All are correct

118. ‘Tdwm i’ a1 adwr TAER dfcw ymiele foke v TaegEEst 9| IW 5o 7

(1) foopmet vEla (2) WIS TRSH

(3) ooy 5 ST 4) T MRS

Who replied promptly to the critics of vedic religion through ‘Vartaman Dipika” News
Paper.

{1) Vishnushastri Pandit (2) Bhau Mahajan

(3) Vishnu Buwa Bhramachari {4) R.G. Bhandarkar

119, YRaTE1 YfEe Mol SRS HIv e ?

(1) (2) SR

(3) IR 4) s fm
Who was the first Governor general of India ?

(1} Curzon (2) Dalhousie
(3) Warren Hastings (4) Lord Rippon

oA FHTHHEE ST /SPACE FOR ROUGH WORK

P.T.O.

A g S e v Bz



002 24 A
120. 3fea TN ST A9 WOIGTH! HIA FABRFIA a9 TAR HLOATH e foresaed ?

(a) ST W9 (b) TWEE I

(c) fosil sream (d) o TEASD

it 39 ¢

(1) (a) B 2 (@9 (b)HwE

(3) (@), (b), (c) B (4) =lo wd

Who from amongst the following gathered information on making of a bomb at India

house London ?

{a) Senapati Bapat {by Hemchandra Das

(c) Mirza Abbas (d) Lala Hardayal

Answer Options :

(1} (a)only (2) (a) and (b) only

(3) {a)., (b), (c) only (4) All the above
121, 2011 =0 FEHSTTHR HIUT ea0d W G9R arohiant o w{mr gaifyes 8 ?

(1) el (2) =R (3) TiifeE (4) TR

Which district as per 2011 census has the highest number of females, per thousand

children ?

(1) Gadhchiroli (2) Chandrapur (3) Gondia (4) Ratnagiri
122. 2001 - 2011 &1 S Hellfteh AU a6 Hee foregl v ?

1) Y8 2
(3) o (4) ¥ TP

Which district has shown the highest population growth during the 2001 - 2011
decades ?

(1) Mumbai City (2) Pune
(3) Thane (4) Suburban Mumbai

HoeAl HHTHIS WM /SPACE FOR ROUGH WORK
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Ig BN TER HERTST HIvTe TeE g favmma o ?
(1) S (2) TRt 3y TR (4) ferw
The famous lonar lake is located in which Administrative Region of Maharashtra ?
(1) Awurangabad (2) Amravati (3) Nagpur (4) Nashik

g9 2011 HA 310 FSice! 31 TERIR S Haifus Shraean el 8T, &

(a) TIHHE THh FHEraen Fd.

(b) ST THTY W,

(c) 3fienfie faswra anfor el yHTor S,

@R FHUE foam sER AR ?

(1) (a) 3 (b) (2)  (a) ¥ () (3) (b} 3 (c) @ (@), b (o)
In 2011, Thane district was the most populated district of Maharashtra because :

(a) Population is more than one million.

(b}  Fertility is high.

{¢) Industrial development and migration is very high.

Which statements are correct ?

(1) (a) and (b) (2) (a) and (o) (3) (b)and (¢ 4) (@), (b) and (c)
IRAWIG Hafd A FHian T HIa ?

(1) et (2) @R (3) Hie (4) YL@
Which is the biggest artificial lake in India ?

(1) Puskar (2) Dhebar (3) Sambar (4) Surajtal

126.

21, et aredr e STOngaR R0 fFTRIEEn Jou S SamE TR =i ?
(1) AM 2) BS (3) AW (4) AS

According to classification of climates by Dr. Triwartha, the climate of coastal region of

Konkan is of which “type” ?

(1) AM 2) BS (B) AW 4) AS

FHeel HIUE! SR /SPACE FOR ROUGH WORK
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127, HioR YT @Rt ATl a1 ?
(a) T Etelte e Wi,
(b) VRO d SIS Hatq Hiedt S IS
(c) ROy Yedgn ‘=Y A Tfen wgdtar’ A
gt Y ;
(1) HaE - TS - TR - 787,
(2) SR - HTR - AR
(3) - 4P - AR
(4) AR - AR - fewed.
Which railway route has the following characteristics ?
(a} Railway route on River Chinab.
(b) Tallest railway bridge in India and world.
(c) Konkan Railway deployed ‘New Austrian Tunnelling Method’.
Answer options :
(1) Mumbai - Panvel - Ratnagiri - Madgaon.
(2) Udhampur - Shrinagar - Baramulla.

{3) Jammu - Punch - Shrinagar.
(4) Jaipur - Shrinagar - Delhi

128. YIAMI=Al AI@MA, FIhidl SFEE YRAMED qagom BT THSTT HII AT,
(1) F=u@ (2) s=TgeH
(3) defen (4) o ud
Coffee Plantation in India was introduced on hills.
(1) Kudremukh {2) Baba Budan
(3) Bailadila {4) Al the above

129. GRS I Hivr feegri=n d < ffan S Wi oRE o1 ?

(1) g @ 1 (@) e (4) e e
Which of the following districts share their boundaries with two or more states ?
(1) Sindhudurg (2) Dhule (3) Nanded (4)  All the above

ol WIS AFT /SPACE FOR ROUGH WORK
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130, WHGTH! FIORE GoH! Tiote e sgesand ?
(a) TAfefe TTEAm S QI 9 SR IS YR B
(b) 1 G TS, TN | FArs FHI FHI,
(c) Ve TR & 9ivem Sieerg 39 anded.
(1) e (2) FE T (3) Sweft = (4) v o
Which type of soils exhibits following characteristics ?
(a) A soil formed in high temperature and high rainfall.
(b) Characterised by poor concentration of nitrogen, potash and lime.

(¢} Occur in Ratnagiri and Western Kolhapur.
(1) Red Soil (2) Black Soil (3) Laterite Soil (4) Mountain Soil

131. JEET GRETHT HHheaT ABEran 3.
(a) TS SA qula: T
(b) WSS &R G S A 0,
(c) A SaFieE Was U,
(d) WTewi ATEHET eSS e T,

TIBUHT IV 1/ AET T8/ AR ?
(1) H (a) (2) ™ (b)
(3) (o) T (d) (4)  (b) 3T (d) %o

The concept of Privatisation is known as

(a) Full freedom to Private Persons.

(b} Transformation of Public sector into Private sector.

() Independent policy for Indian farmers.

{d) Entry of private ownership into public ownership.
Which of the statements given above is/are (correct) ?

(1) Only () (2) Only (b)

(3) (c) and (d) only (4) (b)and (d) only

THoea! RIS W /SPACE FOR ROUGH WORK
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132. €9 I ' YRGS TTagiale’ SATETas STHTIaehishiv], ST § WNFIehIvTEt W ioyeh
vt IR gt e ?
(a) offaftam gfoEw (FHIR) HHt H
(b) HARIE &M d9 e,
(¢) Vel HEIRE FHEYE qIga.
(d) reerRT=AT Ul dosd KRG ‘1A AR, AqH ATEr o Sergwdl .
TaiEt s
(1) oo wd (2} (a) O (b) FF
(3)  (b) 30O () (4) (o) sufor (d) W

In the study of ‘Lack outs in India’, Datt concluded that following objectives were achieved

in the era of LPG.

(a) To bring about reduction in surplus labour.

(b) To increase work-hours for workers.

(c) To increases workload per worker.

(d) To force workers to accept ‘'no work no pay’ for the entire period of lackout.

Answer options :

(1)  All the above 2
) (4

1 (a) and (b)
(3) (b)and (c) only

)
}  (c) and (d) only

133. (a) S 1991 WA TR T STEHTI T B,
(b) 1992 - 93 HEA =R YEa(® €A1 ST9C; GHadrar Wiy e
(c) 1994 HNTRAE WG WAERIG T9ar=T1 qoid: qiadr=r Y’y F.
Tt HvR faur e e guron g ?
(1) (a) &K (2) (b) we (@) (¥R (4 dohowd
{a) Rupee was devalued twice in July 1991.
(b) Partial convertibility of rupee on the trade account was announced in 1992-93.

{(c)  Full convertibility on current account was introduced by August 1994.
Which of the above statements indicate exchange control reforms ?

(1) (a) only (2) (b)only {3) (c)only (4)  All the above

134. =@ e deat TE ITNIIETS! IUGE STHOT AT WST FHI gl
(a) 3mEE (b) Frafa (c) IedEA (d) IHm
iy :
(1) (c) P (2)  (c) 3T (d) e (3) (b)we (4) (a) v
An increase in ____ reduces the stock of commodities available for home
consumption,
(a) import ~(b) export (c) production (d} consumption
Options :
(1) {c)only (2) (c) and (d) only (3) (b) only (4) (a) only
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IV YA/ TR ST e A ?

(1) Fig= St (2) TR STEEAS
(3) SIEER (4) W ER o
What is not an indicator of Indian Poverty ?

(1) Low standard of living (2) Low imbalance
(3) Starvation (4) Low Per Capita-Income

136.

(@) VEUSN HuieAl VAT TTEehITar] a5gd ScIad HIUal O § Heqq IrTHers THaH
.

(b) wEwTTE &l Hata AfuE frw 9% FA.

(c) ¥ 9 VdioR STawe STEuFT JerHEme W ISR Frafo g @ e .

(d) QEF STl JaavERre! SiHaT Slavier .

FUSAH! HIURET ITREF, TANEL F AR (TSIl ) HiSe=n Suiar Aed 7

(1)  (a) T (b) FeH (2) () 301 (c) Fer

(3) (o) 3fr (d) v (4) @le ¥l

(a) By permitting entry of multinationals in consumer goods sector, the model has hit
the interests of small and medium sector.

(b) It emphasised a bigger role for the public sector.

(c) It bypasses agriculture and agro-based industries which are a major source of
generation of employment.

(d) It delayed the process of private investment.

Which of the above are fundamental weaknesses of LPG model ?

(1) (a) and (b) only (2) (a)and (c) only

(3} (c) and (d) only (4) All the above

137.

(a) e (SEBI) 9 Wigas! INRER famA SoaEE! aat.
(b) Ferie= MR WEiaeh! 9 fagsa Etdfasiar YR Hio.
(c) T R I /TN G asha Ivag WaErTi SwE STE.

(d) =l wd
Fhotwt FivE faum wisae! IERHS Teds SRS JURT geed ?
1) (a) B 2) (b)w¥ @) (o ®H @) (d

(a) SEBI was set up as a watchdog for regulating the functions of capital market.
(b) Online trading and dematerialised trading have been introduced.

(c) Companies were allowed to buy back their shares. '

(d) All of above.

Which of the above indicate reforms of capital market under LPG 7

(1) (a) only (2) (b)only (3) (c) only 4) (9

HeeAT HIHTEST 9T /SPACE FOR ROUGH WORK
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138. Hfsw 39w g WIS ST,
(a) % TER (b) T q%
(c) T &R (d) =T T
i :
1) (o) B (2)  (a) () (d)®x (4) (b) F
Monetary measures are taken by .
(a) Central government (b) Central Bank
(c) State government (d} Commercial Banks
options :
(1) () only (2)  (a) only (3) (d) only (4) (b)only

139, WHE ARMEYT TNET IS I Faer
(1) SIIaenRTehivl U SARTHGS TIAM S a1 S,
(2) <eRiEwm ra 9 Fraia Frey w9 F.
(3) TUH.E.9E. &Y TEy AEE quied.
(4) foeft smmm s .. = FwEE iy .

Choose the correct one among the following sentences :

(1) Globalisation means a study of global - warming,

(2) Liberalisation consists of removal of Import and Export regulations.
(3) FDI, indicates Foreign Direct Import.

(4) IMF has no role in foreign trade.

140. ¢ SRR He e o,
(a) ¥ HEHSS MU = AaUEid di ae.
(b) STk ST FEifed faewm.
(c) TSI & AT fATRS gEIal.
(d) vEUSY WEHES Suft Wi jaavwK A 9.
FhotH! FIva foum/ faum ale smeq ?
(1) () & (b) Bl (2) () FoH 3) (b) w 4) (4w
is an important feature of Globalization.
(a) Steep rise in local corporations and their investment
(b) Limited development of banking sector
() Transfer of private sector to public sector

(d) Steep rise in multinational corporations and their investments.
Which of the statements given above is/are (correct) ?

(1) (a)and (b) only (2) (c)only (3) (b)only (4) (d)only

HoAT KIS TEIT /SPACE FOR ROUGH WORK
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141. GRGUE! HI0e Farel fae TIIEBR 8id 76 ?
(1) T qeEEH!
(2) = AETOETE YEF A
(3) TG SEEdl AN FA
(4) WA wee
Which of the following posts is not appointed by the Governor ?
(1)  Chief Minister of state
(2)  Chief Justice of the High Court
(3) Chairman of the State Public Service Commission.
(4) Member of the Council of Ministers.

142. WIS SivM/d fqum/S swEt e ?

(a) WU Nt TRAfewE Mg Haed it vdae T feaguw smammehe
HO M.

(b) T Fraevm SAErTRgTa faura 9 Sead=a Feaeu@e Haed 9 Y968 Fo 9K,

i I

(1) % (a) (2) W (b) (3) (a) 3T (b) (4) It L

Which of the statements given below is/are correct ?

(a} The State Election Commission supervises and conducts the election of Panchayats
and Municipalities.

(b) The State Election Commission also supervises and conducts the elections of the
Vidhan Sabha and Loksabha.

Answer options :
(1) Only (a) (2) Only (b) (3) (a)and (b) (4) None of these

143. W& faum Ta
(a) g anfor < wedte fomw FHbigd W =vE sieEs W
(b) 1 1916 A4 Fifvea wvaE s,
(@ @ sR a0 T i atee e
Fliwth! SR /At faaE/4 e TR ?
(1) = (a) () @ @E) (@) () () (4)  (a) 3 (o)
Consider the following statement :
(a) The boundary line between India and china is known as a McMohan line.
(b) It was determined in 1916.
(c) It was prepared by Arthur Henry McMohan.

Which of the following statements given above is/are correct ?
(1) Only (a) 2 @and(®) () Mand@) (@) (a)and ()
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144, THE faum =
(a) . B Wl ¥ Wi AR S RV e S,
(b) WL TS A=A ARTCIATEIS! TRATET et Suug ANg TR HLoar ST Bl
Flets! R/ faum/3 ateT aRa ?
(1) K (a) (2) w (b) (3) (@ap) (4 wER AR
Consider the following statements :

(a) Dr. Homi Bhaba is known as the father of the Indian nuclear sciences.
(b} Under the guidance of Prof. U.R.Rao the first Indian satellite Aryabhatta was

designed.
Which of the statements given above is/are correct ?
(1) Only (a) (2) Only (b) (3) (a) and (b) {4) None of these
145, ‘ol fover fogel® o amed ?
(1) et () g (3) wEA (4) Y

Who is the Director of the Film ‘Barfi’ ?
(1) Rohit Shetti (2) Subhash Ghai (3) DPrakash Zha (4) Anurag Basu

146. @& faum e
(a) Wem *.fF FA T TENEA Y R
(b) 1981 TEA YO AY TR dT TG FA.
FHT HIvE /A faem/d st oea ?
(1) = (a) (2) T (b) (3) (a) 3T (b) (4) Ayt TR,
Consider the following statements :
(a) K.V. Kamat is chairman of Infosys at present
(b) Infosys was established at Pune in 1981

Which of the above statements is/are correct ?
(1) Only (a) (2) Only (b) (3) (a) and (b) (4) None of these

147. @oe faym v ¢
(a) T fqn ¥ - ofefofean @ wanlt freEi o1k,
(b) Tresrr T {uan € g Afefean Gernlt e o,

it TN ;
(1) e (a) TS (2) ®H (b) T
(3) (a) anfar (b) SR TR (4) (a) 3 (b) T RA.

Consider the following statements :

{a) The name of Milkha Singh is associated with Athletics.

(b} The name of Gurubachan Singh Randhava is associated with Athletics.
Answer options :

(1) Only (a) is correct (2) Only (b) is correct

(3) (a) and (b) are correct (4) (a) and (b} both are false

HEEAT HHHEIS W /SPACE FOR ROUGH WORK
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148. TS ALY T TR Hivre fSeena 3 ?

(1) TefatE (2) iifeam (3) wem (4) IR
Todaba National Park is located in which district of Maharashtra ?
(1) Gadchiroli (2) Gondiya (3) Bhandara (4) Chandrapur

149. WO HIOKT Faem SRER 37Ted 2

(a) T=ET=RN TeATErE! Frgedt WS Tyd .

(b) UAYE HEE VT 979 VA AE 99 4 Td faHiiEwm Sl 9arETe R 5R
el

(c) umTEn =i S fben sifues Toien T v e 2w,

(d) TR faeom AEH féen o e FTdiem wH! e A e,

i I

1} (@) (o) (d) (2} (@) () (©

@) ) () (d) (4) o wd walE

Which of the following statements are true ?

(a) The Governor of the State is appointed by the President of India.

(b) The Governor shall not be a member of Parliament but he can be a member of any
house of State Legislature.

(c) A person can be appointed as a Governor of two or more states.

(d) The emoulments and allowances of Governor shall not be diminished during his
term of his office.

Answer options :

1) (@ (), (d) (2)  (a) (b) ()

(3 (b), (c), (d) {4) All of the above

150. faems (A) - u+ fadas guyq fauradas wies WM.
THIUT (B) - TITT=N 48 THd-= o fadas wigd 9.
(1)  (A) 7% (B) SAaT TR, (B) § (A) F ST TILHTT SR,
(2) (A) 30 (B) S ARG, T (B) § (A) A TR T,
(3) (A) TR 3T, (B) IF IR
(4) (A)TH T, (B) TR ST,
Assertion (A) - A money bill is first introduced in Vidhan Sabha.
Reason (B) - A Financial Bill is introduced with the prior permission of the Governor.
(1) (A) and (B) is true. {B) is the correct explaination of (A).
(2) (A) and (B) are true, but (B) is not explanation of (A).
(3} (A) is true. (B) is False.
(4) (A)is false . (B) is true.
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151, @S faym & .
(a) <farur SRR gad =R &7 (SAFTA) FIR 2006 IRF FARTET .
(b) I FHIA Tyt <fror enifvrn deiw gE =R 8 aefavart g 5o SR,
FhTdF! HR/ @ faum/A Si=T o ?
(1) T (a) (2) = (b) (B) @) (4 T
Consider the following statements :
(2} The agreement of South Asian Free Trade Area (SAFTA) came into effect from

2006.

(b) This agreement promised the formation of a free trade zone for the whole South
Asia.

Which of the statements given above is/ are correct ?

(1) Only (a) (2) Only (b) (3) (a)and (b) (4) None of these

152. 2012 A U G-15 URYSH ISHNGE SVl TRH Yufae B 2

(1) ¥ 2y diem (3) 3= (4) 3SRl
Which country hosted the fifteenth G-15 summit held in 2012 ?
(1) India (2) Sri Lanka (3) Egypt (4) Indonesia

153. GioedH! HIET TiRTIH TIUF 3R ?

(1) =& (2) HEBHIG (3) FED (4) TOEER
Which of the following is the capital of Pakistan ?
(1) Dhaka (2) Kathmandu (3} Kabul (4) Islamabad

154. GEEUS! IR faum THEYer on) B A 2
(a) TIEHE® 94 Yig A0 TMEYe 9e 9.
(b) TTHEIEE SSHI AT qUF YT,
(c) TN IrTYErEdeAT HRTE fEF0 399,
(d) ERdETE AT THEEE TEES STEAaer Hean.
(1) ¥ (a) (2) (a) T (b) (3) T (o) (4) W (d)
Which of the following sentences is not applicable to Gram Sabha ?
(a) Gram Sabha is constituted of all adult members of the village.
(b) Sarpanch chairs the meeting of the Gram Sabha.
(c) The Gram Sabha monitors the activities of the Grampanchayat.
(
(

d) In the absence of Sarpanch, the Gram Sevak chairs the meeting of the Gram Sabha
1)  Only (a) (2) (a) and (b) (3) Only (c) (4) Only (d)

Vo et
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155. TS faum 9w .
(a) ToaTe T4 faumHE=mE vm e, 9 19 faineeen Haita & wehd S 9o weq
IRl
(b) Taum wfeg =E fadas wa wR-Ns S w6 IgH 35 6 9.
Tols! BIvR/d faum/ atET R ?
(1) P (a) (2) T (b) 3) @@ (4 T

Consider the following statements :

(a) The Governor of State is part of the state legislature ; he addresses the legislature
and can send massages to it.

(b) The Legislative council can not delay any Bill more than six months.
Which of the statements given above is/are correct ?
(1) only (a) (2) only (b) {3) (a) and (b} (4) None of these

156. G faym Wl :
(a) TR g™ AMYER TuEg G SISETES TR Hl. .
(b)y T for Ffysr TamEd afad Tade TRIEESE A F.
Ui B/ e/ sEs one/a?
(1) W (a) (2) I (o) () @AW () (4) R T
Consider the following statements :
(@) Block Development Officer prepares the Budget of Panchayat Samiti.
(b} Block Development Officer is the administrative head of the Panchayat Samiti ?

Which of the statement is given above is/are {correct) ?
{1) only (a) (2) only (b) (3) (a) and (b) {4) None of these

157, TIREAARA T SvarHs] aieene HvN Wed o ?

(1) fea SEmetewe 8T (2) HRRSIE <5

(3) sfca meh (4) S W

Who had supported Bangladesh for their independence from Pakistan ?
(1) Pandit Jawaharlal Nehru (2) Morarjibhai Desai

(3) Indira Gandhi (4) Rajiv Gandhi

HoeAT HATHS JART /SPACE FOR ROUGH WORK
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THGARIAT= HEHId W] v e gahie 378 ?
(a) IAF YHYLEERE SEwS T g9 MG s el o

(b) Tordm ufifterdia Uoare TSAOIE U 98 SEEE A% HE AHAE Ty O FH S qEd
.

() SR UHYETEd HedIgd] sETed §et oY wel Hiemi= ang FHeevm sawar niiest,

it 3

(1) % (@) (2) W (b) (3)  (a) I (b) (4) (a) & ()

Which one of the following statements is not correct with respect to the
Grampanchayat ?

(a} Every Panchayat shall have a fixed term of five years.

(b} The Governor of state can increase the term of five years, but can not reduce the
term under any circumstances.

(c) If a panchayat is dissolved before the expiry of its term election of such panchayat
must be held within a period of six months.

Answer options :

(1) only (a) (2) only (b) () @and() (4 (a)and ()
159. WISIOUST FI0@I 20 Wieh eZT=1 UG A 7

(1) o= (2) wierRw (3) EFER (4) W

Which of the following is not a member of SAARC ?

(1) Bhutan (2) Bangladesh (3} Myanmar (4) Maldives
160. @S fagm 1@

(a) +EaF SIS | AR 1951 IR ST

(b) TSN ¥ WIAWTS 30 3 A AR

TS Her /A fau/ stEt TR ?

(1) R (@ (2) W (b) @) @afrE) (@) T
Consider the following statements :

(a) The demand for independent Bodoland is being raised since 1951.

(b) Telangana is the 30" state in India.

Which of the above statements is/are correct ?

(1) Only (a) (2) Only (b) (3) (a) and (b) (4) None of these

oAl HIATETS SR /SPACE FOR ROUGH WORK
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161. faeamt (A) - 2005 =0 Fasv@r@ Teda THie GhumE s 7s9a Fo.
HHUT (B) - AI@E HEd W@Ra ™ SRk el (MDP) 91 TSI &g ST,
T S
1) (A) =it (B) SR 3TRA. (B) B (A) & I WEIHU AR,
2)  (A) ST (B) S 3Med. UV (B) € (A) d ST=IaAl AT
(3) (A) TS T2, (B) & 32
(4) (A) IF AR. (B) U AR,
Assertion (A) - Democracy strengthened in the Maldives after the 2005 elections.

Reason (B) - The Maldivan Democratic Party (MDP) dominates the political affairs of
Maldives.

Answer options :

(1} (A) and (B) is true. (B) is the correct explanation of (A).

(2) (A) and (B) is true. But (B) is not correct explanation of (A).
(3) {(A) is true. (B) is false.

(4) (A)is false. (B) is true.

(
(

162. e fHdl TLT TgMr amea ?

1 12 (2)y 16 (3 22 (4) 24

How many National Highways are there in Maharashtra ?

(1) 12 2) 16 (3) 22 4y 24
163. @A fage e :

(@) urh FeerAwsd diwe fries wor g TR,

(b) TS TTEAY g A 9 2012 e sRare 92 T,

T wmuR /@ faur/T ateT kg ?

(1) = (a) (2) wH (b) (3) (=) M (b) (4) R
Consider the following statements :

(a) China has the observer’s status at the SAARC.

{b) The President of China Hu Zintao visited India in 2012.

Which of the Statements given above is/are correct ?
(1) Only (a) (2) Only (b) (3) (a) and (b) {4) None of these

THeAT THIATHIES WA /SPACE FOR ROUGH WORK
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164. HIVH T R SO AR (FEIH) A=W IR TG 371 2

(1) 1951 (2) 1961 (3) 1971 (4) 1981

In which year a treaty of friendship was signed between India and Myanmar (then known
as Burma)

(1y 1951 (2) 1961 3) 1971 (4)y 1981

165. WS@Uh! HIoE/d faam /7 sET e ?
(a) TIUS fadus TgA 3T Thaw.
(b) TS Tagas Uy fafumsoene T U yehdm.
(c) ToIuE Ueade faand fdas T 3% A
(1) W= (a) (2)  (a) ST (b) (3)  (b) A () (4} (a), (b) M7 ()
Which of the following statements is/are correct ?
(a) The Governor can withhold a bill.
(b) The Governor can send the bill back to the state legislature.

(¢} The Governor can reserve the bill for President’s consideration.
(1) Only (a) 2 @and(b)  (3) (B)and(@)  (4) (@) (b)and ()

166. fFurTafied=n H3wlio Qoo 9 H@sqas o :
() faurmfoRd 1/ wew oUW At fod 2w,

(b) fouraRees 2/ w<e S auiHt freifd g,

(c) TaYFIiySs1 wrdsio Hel Jui=l 3R,

(d) faumofad=n vas FE=1 widwe e a6 7.

g gaig Feaer

1) (b)) 2 {a) () 3) (@) (d) (4) (b), (d)

Read the following sentences carefully related to the Legislative Council.

(a) % members of the Legislative Council retire after every two years.

{b) % members of the Legislative Council are elected after every two years.

(c) The term of the Legislative Council is of six years.
(d) Each member of the Legislative Council has a term of six years.
Select correct code

1 () © 2} (@) 3 @ 4) () (d)

oAl RTHTETE ST /SPACE FOR ROUGH WORK
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faoim § ToetT! HIvRg SR T G TR ?
1) e (2) TAER (3) wERY (4) o
Ceylon is the old name of which of the following countries ?

(1) Nepal (2) Myanmar (3) Bangladesh (4) Sri Lanka

168.

169.

170.

2013 AEl YRATY T WA SULEYS worE) fras Hvam e ?

(1) i met (2) Fdo fo=e

(3) Tge M (4) T gy

In 2013, who has been elected as the Vice-President of the Indian National Congress ?
(1) Sonia Gandhi (2) Kapil Sibbal

(3) Rahul Gandhi (4) Priyanka Gandhi

Hus 37 edre WedsE Jag yaig fae

M ™ (2) worsf (3) T (4)  SmE
Select incorrect code of bench of the Mumbai High Court.

(1) TPune (2) Panji (3) Nagpur (4) Aurangabad

fauraa=h ggeEE Tl ?

(a) = w40 (b) HHIE FHH 60

(c) ST W& 100 (d) SIT&iTd ST 500

waidt S

1 () © @ ®).© @ ®) @ @ @ @
How many members are there in Vidhan Sabha ?

(a) Minimum 40 (b) Minimum 60

(¢) Maximum 100 (d) Maximum 500

Answer options :

1) (@) 2 () () (3) (), (d) 4 () @)

FoT HIHTHIE! 9T /SPACE FOR ROUGH WORK
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171, THYSEET @rte foue ge
(a) UmHY METIE ArkiEwe et e wewarE fagy s,
(b) UTHEWT AqHGETE & 18 99 Ui e s e 9.
Flais! IR/ q fur/3 sET o ?
(1) EH (a) (2) & (b) @) @) (4 FIH TR
Consider the following statements about Gramsabha :

(a) A Gram Sabha consists of all the members elected by the people of a village.

(by A Gram Sabha consists of all the persons of a gram panchayat area, who are not less
than 18 years of age.

Which of the statements given above is/are (correct) ?
(1) only (a) (2) only (b) (3) (a) and (b) (4) None of these

172. 90 T 36 S A1 G HiowTe] WIOTols! 1o AUt FerERI= Y 9 o ?
(1) fowm e (2) wEd S (3) oA W2 (4) aTdET A,

Who amongst the following Marathi actors has been appointed as a Director of National
school of Drama ?

(1) Vikram Gokhale (2) Prashant Damle (3) Vaman Kendre (4) None of these

173. SFORIN T I ?

1 (2) T 3) T (4) T
What is the currency of Bangladesh 7
(1) Yen (2) Dollar (3} Taka (4) Rupees

174. GISSHHT BV AT HE AT 7
(1) et i s,
(2) WA deFd sy WiHR,
(3) Tsgwdl enifur wSURNRa g @,
(4) HOT =T o
Which of the following is not the function of the Chief Minister ?
(1) Formation of the Council of Ministers.
(2)  Presides over the meetings of the Council of Ministers.

(3) Link between the President and the Council of Ministers.
(4) Co-ordination of policies.

HEAT HATETS AT /SPACE FOR ROUGH WORK
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175. 73 = RAGEN! e Goie faum 971 -

(a) YT SfayurT=n ®ou 243 - [ TR TUIE TG990 To® 9 JuHa gagdrsn snfds
feardta wieror FroaEEt T foa STl e Fde.

(b) G Wfaurrsn Fow 243 - K T9R damdi=n faeume fasn stwam sfusr
e s R,

Tleds! HITR/d faym/A sET R ?

(1) I (a) (2) I (b) 3) (a) 3f (b) (4) T Y.

Consider the following statements about 73'd amendments :

(a) The Governor of state constitutes a Finance Commission every Fifth year to review
the Financial Position of Panchayats under the Article 243 - I of the Constitution of
India.

(b)  The control of all elections to the Panchayats is vested in the State Election Commission
under the article 243 - K of the Constitution of India.

Which of the statement given above is/are correct ?
(1) Only (a) (2) Only (b) (3) (a) and (b) (4) None of these

176. Gream fromen sawasnd ' vow’ = war TEe e 1 ISfaer w6 ?
(1) TR TIHL U/ HIIV SR,
(2) OO TTIT SR URA e,
(3) Wl et e T wuA.
(4) R FRe (o §919) a9 98T FIUARA.

Before making a plaster cast of a footprint, shellac is sprayed on the surface of the foot
impression to :

(1) Quickly harden the plaster

(2) Prevent water from seeping into the soil

(3) Prevent soil from adhering to the plaster cast

(4) Bear the weight of the plaster cast

177. gl SleEoarE) gz qre sarars] d6t Ugd S SR FHod geet ST SR, at
(1) ETTRER Wi SigvgrEt e
2) R fEe Tga
(3) HTESY FE UHd
(4) OIS FUETE TE
The new system of Portrait Parle now being increasingly used to identify suspects is :
(1) Computer Portrait building system
(2) Photo kit system
(3) Identity-kit system
(4) None of the above

oAl HIHTETS ST /SPACE FOR ROUGH WORK
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178, WIS@YH! HIVI TF el DL~ sqaiien Sie@l Tgaran w et ?

(1) W =%/ (2) i seaTe
(3) EreEia (4) FET T E =
Which one of the following does not form part of ‘Portrait Parle’ system of identification:
(1) General appearance (2) Confidential Report
(3) Colour of eyes (4) Colour and style of Hair
179. el o<t sliesE WIS FITAT gE-al M 2794
(1) o fodm (2) <=ae favw et favw (49)
(3)  SgEe TE (T FEe) (4) FR T TR BRAYH
Finger print identification is based on comparisons of :
(1) Pattern characteristics (2) Ridge characteristics
(3) Ridge counts (4) Core and Delta formation
180. TSIY- LW TE TRV SR, =1 ot Aret wred, w@reh ‘el e une o=t weeer)
HIVIET 3118 ?
(1) e sifuws
(2) 3u. favnia q. it/ 930, sifyes
(3) difew V¥ yurt sifuer
(4) SEF TSHUHRT
The responsibility of starting ‘History sheet’ of Criminals residing within the Police Station
limit of Police Station is of :
(1) Superintendent of Police
(2) Sub-Divisional Police officer/Dy. Superitendent of police
(3) Office incharge of Police Station
(4) Executive Magistrate
181, TR eAR e e R §&l TR 716 S faeey Aiefe 9 ?

(1) feh shrgw fare (2) I I T e e
(3) e AeEX (4) HIES T RIS
If the court convicts an accused his name is entered in which register at the Police

station :
{1) Daily crime Report (2) Police station conviction Register

(3) Goonda Register (4) Monthly Crime Report

HoAT HHIETS! SR /SPACE FOR ROUGH WORK
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182, VEUWEE TRIa FHURT 18 10l Th=dt foar e Sies ara¥ard ?

(1) = FH (2) o A FH

() a3 Fw (4) ol ¥H FPRE TR,

Patrolling mobile vehicles while patrolling in the city normally use wireless communication
of which frequency :

(1) High Frequency (HF) (2) Ultra Higf\ Frequency (UHF)
(3) Very High Frequency (VHF) (4) None of the above

183, 'wa@e’ TEaw (fefed) ned 9 '’ gwaw (fofet) 9 <t wewm= woE S @
(1) fofsmam dfirel 9 g
(2) fofewarar #m
(3) & T SMHR I IH UG 3R
4) YO I
In ‘Forged’ writings which of the following features is most likely to differ from ‘Genuine’
Writing :
(1) Special features of writing and pressure
(2) Slope of letter
(3) Average size of letter and distance between two-words
(4) Line quality

184, 'S 1000 T Wi § ITH TR TIEHE FIMHRA AOHS AG ?
(1) weTRIE A FI.
(2) TR
(3) TSI e
(4) U THHTS HEARYID! UGS
What is “OMINI 1000 light source used for in crime investigation ?
(1) Record scene of crime
(2) Life finger prints
(3} Measure sound waves
(

4) To transport investigation team to scene-of -offence
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185. SRl BIATHHIOTE IYAFT HIMEE! HST el ?
(1) SRR Eiei
(2) afus quEn faesvararct
(3) U YHIETTR
(4) TIEST a¥ AYUTEE]
Photography of scene-of-offence is mainly used to :
(1) Reconstruction of scene of offence
(2) Getting additional evidence

(3) Police Records

(4) Locating concealed objects

186. 31wl WA fHel Fvman SyHomHYA fHesard ?
(1) ¥ fEeR
(2) 1000 Jic T frem= M
(3) HHH F A FUSH IR,
(4) @S WY AW I
What is the source of Ultra Violet Rays :
(1) Red filters
(2) 1000 watt tungsten filament lamp

(3) Vaccum Tube containing cathodes

(4) Quartz Mercury vapour lamps

187. fawd ALl TUESS! Thich GIoteds! Ko o= geam foqdie ?

1) T e fRm 2 @ e

(3) e = 4) fowdw wg

An IED (explosives) concealed in a brief case can be detected by :

(1) Infra-red rays (2) X-Rays

(3) Ultra-Violet Rays (4) By breaking open the-brief-case

THAT HATHIS WM /SPACE FOR ROUGH WORK
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188. Ul =T (EGHIER U Gaeh Wi o Tl a0l dei= SHERN TOHERE (flaking) H/E
SEIEN
(1) T FEHAE AR, (2) T faiRd S A,

(3) FEfROTEN TEWH FE e (4) SSTRd TS ARSI Hd FEA

A glass pane having a clean hole, with almond shaped flaking on one side, will indicate
that :

(1} A bullet at right angle hit it (2) A bullet at an oblique angle hit it

(3) It was broken due to sun’s rays (4) It was hit by an ovale shaped stone

189. ARG vl gfifeerdta ' a’ W 9w fehe wed ?
(1) SHA-GSHE FT (2) aegE e
(3)  TRH AYHM STV M (4) WS 9 T &

At the scene of offence under what circumnstances would “smell” remain for a relatively
longer duration :

(1) Hard-Rocky area (2) Sandy area
(3) Hot area (4) Soft and damp area

190. =1 T eI A IARHE GUT (water mark) o YIREIET I (security thread) ¥ Hegt
YA s ST ?
(1) =t FrerE U Ha.
(2) TR G HLFL
() W& sTHa vt FERMHE W o AR wmum
(4) =R et B9 qui FearET.

In genuine currency notes water marks and security thread are introduced :
(1) At the time of printing the currency note

(2) At the time of manufacture of paper

(3) As distinguishing marks between imported and Indigenous paper

(4)  After printing the currency note

191. WSS HIE] Yehitsd ThiZehid ai 0 FEH 9 Yehed 91 €F fa9rme 8@ ?

(1) TS TRITH, (2) TH TE ThITH.

(3) <A AN TRIH, (4) I IS TR,

Which type of explosives are classified into, two primary and secondary ?
(1) All explosives (2) Medium explosives

(3) High explosives (4) Low explosives
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192. HREOMEE 2 g A1 :

(1) T=TTH (2 ISFm 3y A (4) SR ELEE.
Cyclonite is also known as :
(1) HMX (2) EGDN (3) TNT (4) RDX

193, 3T, ARG @A ® .
(1) ¥ e TRISH 3. (2) T IS TRIEE AR,

(3)  Siehfired ThHiTH o, (4) AEH FIVAE ThieH TEL
PETN, RDX, TNT are .

(1) Low explosives (2) Highexplosives

(3) Industrial explosives (4) None of the above explosives

194, qUEET SfHER ATl TRATE <19 HEEE AR YATRd e S qefan

(1) v (2) TEEtE favevus.

(3) YA JHUITRIAL (4) <rme w

Investigation officer usually sends crime exhibits to forensic science laboratory for :
(1) Exhibition (2) Chemical analysis

(3) Preservation (4) Investigation

195. . TL.UEH. § SV THiTH H@ ?

(1) =t whes. (2) sinfie wRes.

(3) HHI TS Thiew, (4) TETERTE AR THIEH.
What type of explosive is RDX ?

(1} Military explosive (2) Industrial explosive

(3) Low level explosive (4) Fire work explosive

196. TORHR faiar 99 R 12 T8 Fgre AN 8 @ Fvrn fowa gwdt Fa fast deeta qumvi
[ERIET P
(1) wa: Tuea =it (2) dH
(@) “ERsfaERt 4) e sRyR Tow

If the victim of rape is below 12 years in age. She can only be medically examined with
the written consent of :

(1) Victim herself (2} Police
(3) Magistrate (4) Her legal guardian
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197. s9% 992 TR € wyvarHEREa S
(1) Sgehiear g 39 (2) <t M
(3) TH=IET (4) ©El B
Dermal nitrate test is done for detection of :
(1)  Gun Powder Residue (2) Seminal Stain
(3) Blood Stain (4) Salivary Stain
198. §SEa & HeH qNEH. FHafq Jam.
(1) 498 A 2y 304 A (3) 3048B (4) 302
Dowry death comes under section of the IPC.
(1) 498 A (2) 304 A (3) 304 B (4) 302

199, uH T4 SYENIS Hwe I Wi THm AfUER IRT -
(1) 7 Uy HREW 9 SF9Fied <8
(2) 5 ouTdd FREM 9 % 15,000 A <8
(3) 3 =uiwig HREM 3 %. 5,000 94 T
(4) 1 9udd HREN 9 %, 1,000 T4 T
A First Class Judicial Magistrate has the following powers :
(1) Imprisonment upto 7 years and fine without limit
(2) Imprisonment upto 5 years and fine upto Rs 15,000/-

(3) Imprisonment upto 3 years and fine upto Rs 5,000/-
(4) Imprisonment upto 1 year and fine upto Rs 1,000/-

200. S § WTE I FATET AT FSTAT BT ARTTIEH YT g 2

1 =2 ) e @ ¥ (4) W

Ganja is obtained from which part of cannabis plant.

(1) Root (2) Stem of tree (3) Flowering tops (4) Leaves
-00o0-
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A — (Y% 1 a6 T3....)

(8 wfeRns fafen oo fafe e =2 @ (W% 76) FE. TYAHaEd Il a
T HIICE Fod HH Hed™ q iU FOAN WM HOS IR, 3 AMS TES d AaR IHCTRET
WA IR Shoed! * wlieined Brorn TRywR wfaey svaeead sifafm-2 " A waeEn SRaE
H0Am IEe 9 A waEdl A T AN FREET A0/ HE T W TR e JerE e
I BES.

©) TR yETYiTRUE S fafed hodl A% YT SHEANe ¥ YYTIfaE T sel THaTRETETRT
U UG TE O, AT U SHeTTeTeR SuATqEl SHEEH ISt St ET W 1
WrANETEHS 7 FAaaT W wur Aavas o,

pProfcasicn

. . 201,

AT U9
201, AT Tw T FOGEE] F qod: TEA FO 7
(1) @ 3ErR S 2 dvovEe faumR
(@) o YHHRA 04 @ T e
T W A I (3) T TR 3 o AR, e I T 3 @) dke. TR
WIGEYATIT 537 %, 201 FHRIE ST-FHH ' (3)"' ¢ odes [0l Sreifend et Srafe e
3R,
ONON N0
I TEEH T TR Jo YTEl RS SUEREIe 8 TRl Sasie Riase

THUCTHRAT 1 A TEHEARHEERT guiud a4 quidol Siaifehd wE SrEardl. gvenidr
e Tl IS Siou araud, ifae ar vrds U= amw 2.
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